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3D: Rational Functions and Asymptotes

A rational function is one of the form

where A(x) and B(x) are polynomials.
We will consider A(x) as n*"* degree and B(x) as m*" degree.
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Domain restrictions and vertical asymptotes

We have previously learned that we must carefully consider the denominator when determining the domain of a rational function. We will

continue with this idea and use what we have learned about factoring to find these domain restrictions and other important characteristics of the

graph of a rational function.
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